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0 1: v 0O radiation length(fittingO OO0 webO0 O OO OO0 O0O)

N 0
oo 11.34 g/cm? 7.87 g/cm?
000000 (2.0MeV) 0.0461 cm?/g  0.0427 cm?/g
000000 (1.5MeV) 0.0522 cm?/g  0.0488 cm?/g
000000 (1.78MeV) 0.0487 cm?/g 0.0453 cm?/g
radiation length(from web data) 1.81 cm 2.80 cm

radiation length(from fitting) 1.76 £ 0.128 cm 3.07 £ 0.095 cm
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Ototal = Tt T fZPcUc <2>
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Ni = Nipe x exp {=NL(r + ZfP.o¥)} = (0000000000) x e NA4R0E(3)
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Lo = 5.60 [cm)] (8)
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Ge-detector
sensitive part

polarized iron
source
46mm
\ 33mm
56mm
67.5mm
136mm
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